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ECONOMICS
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����
Paper – III

�������– III

1. The most recent theory to analyse

consumer is known as

(A) Revealed preference analysis

(B) Marginal utility analysis

(C) Indifference curve analysis

(D) Neuman-Morgenstern utility analysis

2. The value of accelerator when change in

Investment ( Δ I) is Rs. 150 crores and

change in income ( Δ y) is 100 crores

(A) 2.5 (B) 0.67

(C) 1.5 (D) 1

3. The concept of ‘vicious’ circle of poverty

is propounded by

(A) Marshall (B) Keynes

(C) Hirshman (D) Nurkse

4. A tax is not characterised by

(A) Compulsory payment

(B) Levied by the government

(C) Entails benefits to tax payers

(D) Represents sacrifice on the part of the

tax payers

5. The elasticity approach to devaluation was

given by

(A) Heckscher – Ohilin

(B) Marshall – Lerner

(C) Alexander

(D) Bela Balassa

1. ����"����	
��'��� �
�" � ��i"����� ���������� �� j "����
��	
k���������

(A)  �!����""����#l��'����
�"���i"
(B) $%&����� �!��"�m'����
�"���i"
(C) $	
(�'���������� �����')��
�"���i"
(D) '���*����'+��n������,'���'+���-'+�� �!��"�m'����
�"���i"

2. .!/�-�0"�12� � �����'�3� ( Δ I) ��'�oo� 150 �4/��5

p	
��"������12�������'�3 ( Δ y) ��'�oo 100 �4/���#�'��'��
���������6��'i"�������7����
(A) 2.5 (B) 0.67

(C) 1.5 (D) 1

3. q8!	��9����������7��"��r�#'����:;���'��'���� �!<%&���'���
(A) ������'s1+" (B) �j�'+�t
(C) �="�,'s�����'+� (D) '���,'>�t

4. �!'���?�7@��i"���A��

(A) ����!3���9�BC�����!D

(B)  �!:�"����6�����B�������B���0"�'���
(C) �!'���?�BC�����!D	
��'������7uEB��������'F�

(D) �!'���?�BC�����!D	
��'���
*�A�?�����9G���G��

5. �����7*�(="H�����'i"������
*�4B�����6���	
'�������'������F'���
��'�
(A) .="���t�,'�n�v�="�'+�
(B) ������'s1+" – 7��'?�,'
(C) #1�"�Aw�0���,'
(D) IJ"1;��1;x&
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6. Salient feature of India’s structural change

is

(A) Sharp decrease in the share of

agriculture in GDP

(B) Sharp increase in the share of

industries in GDP

(C) Sharp decrease in employment in

agriculture

(D) Sharp decrease in employment in

service sector

7. The difference between money supply

measures M1 and M2 is

(A) Time Deposits

(B) Post Office Saving Bank Deposits

(C) Demand Deposits

(D) Total Post Office Deposits

8. Net rate of population growth equals

(A) Birth rate – death rate

(B) Birth rate + death rate

(C) Death rate – birth rate

(D) Death rate + birth rate

9. Which of the following types of farming is

Eco friendly ?

(A) Corporate farming

(B) Collective farming

(C) Organic farming

(D) Contract farming

10. Which  of the following is not an

assumption of classical linear regression

model ?

(A) Cov (U
i
, U

j
) = ⊥ (B) E(U

i
) = 0

(C) V(U
i
) = 2σ (D) Cov (X

i
, U

i
) = 0

6. :;��'���	��
�"���Ayi;���y����������'�312�������)*�7@��i"�
(A) GDP 12� ���*���x&��"���'������ �
�;� ���i"H��"���A

�!0"�%z���0���
(B) GDP 12�%&9 

�������'�������
�;����i"H��"���A

.!��'���0���
(C) ���*���x&��"���'�����12�$	4*K�������i"H��"���A�������{0���
(D) 8��
��'�����12�$	4*K�������i"H��"���A�������{0���

7. M1 ����9��"�� M2 #'���� 	�����*�����'�|�A7������	��*���7����0

(A) �A7�0"�%&L/��
(B) ���%&7�p(|}��%~	����!D�0"�%&L/��
(C) 0"������0,��0"�%&L/��
(D) ���%&7��A�A*7��"���C������G��0"�%&L/��

8. ������'�m'
:;����M�k��'/��������'�������
(A) m'��'�����'/� – ������'i"���'/�
(B) m'��'�����'/� + ������'i"���'/�
(C) ������'i"���'/� – m'��'�����'/�
(D) ������'i"���'/� + m'��'�����'/�

9.  �"�����
�12�����!�A*�����'i"�x&'�������7����*���x&��"�
��!	��k<��
(A) ����.!H����*���x&��"������
(B) $����y0"�����*���x&��"������
(C) 8�� ���"�����*���x&��"������
(D) ��!3�	������*���x&��"������

10. ��� �!	
��"������'N�"� �!<�������'���'�������'
� �!������"����A��

����

(A) Cov (U
i
, U

j
) = ⊥

(B) E(U
i
) = 0

(C) V(U
i
) = 2σ

(D) Cov (X
i
, U

i
) = 0
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11. When there is uncertainty in the market,
the firm bases its price on the
(A) Short run average cost
(B) Long run average cost
(C) Short run average variable cost
(D) Short run average fixed cost

12. The Chairman of State Planning Board is
(A) Governer
(B) Chief Minister
(C) Speaker
(D) Minister for Planning

13. Euro Zone crisis started with Greece and
spread rapidly to
(A) Ireland, Portugal, Spain and Italy
(B) Belgium, Netherlands and Luxemburg
(C) U.K, France, Portugal and Swedan
(D) Germany, Netherlands, Italy and

Portugal

14. Trickle down strategy implies
(A) Rich compensating the poor
(B) Developed countries subsidizing the

developing countries
(C) Promotion of non-income indicators of

development
(D) High GNP taking care of poverty

15. An Input-Output Isoquant
I. Assumes strict complementarity
II. Has zero substitutability
III. Is called activity analysis Isoquant
IV. Takes the shape of a right angle

Codes :
(A) I and II are correct
(B) II and III are correct
(C) I, II and III are correct

(D) I, II and IV are correct

11. #��F���������C'>/�12������O��	����'���.!P�p�	
��'�!0"��$�/���
(A) ��673�A����������/�����*��"������
(B) ���'��A����������/�����*��"������
(C) ��673�A����������/��B����'���*��"������
(D) ��673�A����������/����O��'���*��"������

12. �A���� �!i;��A�I2��'�Q�#�	��*@���0���
(A) ��������'?�,'
(B) �����)*����� <
(C) (�3����,'
(D)  �!i;��A������ <

13. ��"���4� %&��������@4:�"�� R}�12� %&��'�:�"�C��P����69�������<'��
S�""�"�� %&�"���
(A) T�A��0,�U�%z��'�F���1+"U�.�3�'��'+������9��"����/�
(B) I�"�w��"��+��U�'C�	���A��0,������9��"���7�C�t���,'{
(C) ��"��5��C�5� �&'+�tU�%z��'�F���1+"�����9��"���(�60��'+�
(D) m��'yHU�'C�	���A��0,�U��/������9��"���%z��'�F���1+"

14. ��3�	��'������V*�="������#'���A
(A) ����!'���?7��8!	���
9�"���!9W��'��BC����B��0���
(B) #l���M� k� BC���'��� 	��

7��#l���M� k� BC��	���B���'��?

	��

7������A�'��X�����60���
(C) p	
�J"������'��������7�#l���M�k
(D) #������GNP�8!	��9�A�I;�	��*����(�6���9�B��0���

15. �����$�
3	������n�$���3<G����C�����3<G���')
I. )�F����C��P'����!V��'����
6�?� �!������"���A

B����������/���
II. 
�"�'��*� �!�
*����?��"����'��������K�$�/���
III. �A��'*���1;%&7��
�"���i"����C�����3<G��')
IV. 7���4i"�p�A��'������K�$�/���

�������:
(A) I ����9��"�� II ��9��"�P'���
(B) II ����9��"�� III ��9��"�P'���
(C) I, II ����9��"�� III ��9��"�P'���
(D) I, II ����9��"�� IV ��9��"�P'���
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16. Stagflation is a term coined to explain

I. High unemployment

II. Low unemployment

III. High Inflation

IV. Low inflation

Codes :

(A) I only correct

(B) I and II are correct

(C) I and III are correct

(D) I and IV are correct

17. Pricing under Bilateral Monopoly

I. Leads to indeterminacy

II. Leads to determinacy

III. Is resolved by exogenous factors

IV. Is resolved by endogenous factors

Codes :

(A) I and II (B) I and III

(C) II and III (D) II and IV

18. Zero based budgeting implies that

I. It emphasizes physical rather than

financial target

II. Spending on all programmes is

reexamined and justified each year

III. Annual add on budget is not prepared

IV. It focusses on centralisation of

budgeting

Codes :

(A) I and III only (B) II and IV only

(C) I and II only (D) II and III only

16.  	���4*7Yi;������'� ��G�E���� �!	�������� ��������9�B��0
��"�
$	��E��B���0"���

I. #���������'�	4*K���
II. �������>�������'�	4*K���
III. #������ 	���4*7Yi"�����
IV. �������>���� 	���4*7Yi"�����

�������:
(A) I ���� ����������9��"�P'���
(B) I ����9��"�� II ��9��"�P'���
(C) I ����9��"�� III ��9��"�P'���
(D) I ����9��"�� IV ��9��"�P'���

17. 	C�P6%&@"���������x&6����*�����12��	����'����'Z��"������
I. ��Ak��'��'�="������O<�"��	
9X���G��
II. ��Ak��'��������	
9X���G��
III. #������'{�����A��'�A7B������'Z�'���B���0���������
IV. ��="��'{�����A��'�A7B������'Z�'���B���0���������

������ :
(A) I ����9��"�� II (B) I ����9��"�� III
(C) II ����9��"�� III (D) II ����9��"�� IV

18. 
�"�'
*�	
��'��0C�w�+"������������G��
I. ����G�7@A�*7�����J"�:�<����7@A*7�j�� %&�	
'��*�������G��
II.  �!<� ���������t��'������#�?� �!����A7�)��'�F'���� �!D'���

�!9�����'
*��"��	��k��B����"�0���
III. #	��'���!D��
9s�����0C�w�+"'���������"���'��B����"���'�
IV. �0C�w�+"'�������� ����M�����B����"�0���12�	��M��-x&9�B��0���

�������:
(A) I ����9��"�� III ���� �������
(B) II ����9��"�� IV ���� �������
(C) I ����9��"���II ���� �������
(D) II ����9��"�� III ���� �������
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19. The causes of farmer’s suicides in India

are

I. Indebtedness

II. High cost and low support prices

III. Small sized holding

IV. Relief given to the deceased farmer’s

families

Codes :

(A) I, II and III only (B) I and II only

(C) I, III and IV only (D) II, III and IV only

20. Which of the following are the demerits of

non-tariff barriers ?

I. Less transparent

II. Their impact on exporting countries is

almost impossible to measure

III. Promote trade among poor countries

only

IV. Promote trade among rich countries

only

Codes :

(A) III and IV (B) I and II

(C) IV and I (D) III and I

21. Which of the following are components of

money market ?

I. Treasury Bill Market

II. Call Money Market

III. Gilt-edged Market

IV. Securities Market

Codes :

(A) I and IV (B) II and III

(C) III and IV (D) I and II only

19. :;��'����	��
�"�����12��C'P����7�p���y�="���*7��������7��A��'i;7�
I. ���i" �����O���
II. #������$���3<G����*��"������U�K/�-I;/�1J"���	����'7�
III. �'��?��������
7�
IV. B���%z�'��'��� �C'P����� ����/��I;7����� �!D'���A�
x&�?

����3�B��0���

������ :
(A) I, II ����9��"�� III ���� �������
(B) I ����9��"�� II ���� �������
(C) I, III ����9��"�� IV ���� �������
(D) II, III ����9��"�� IV ���� �������

20.  �"�����
�""12�������������'�#0��Q�����7�12%&7������
I. �������>����%&��'	����'�������
II. [��������<� B����"��� 	��

7.!P� �
�""�  �!:;�
7'���

�\7���0����	
	
�!D�#x&�	��*�����
III. 8!	���	��

7������	��*����� �������������'G�A�?

.!�%~���B��0���
IV. ����!'��?�	��

7������	��*����� �������������'G�A�?

�.!�%~���B��0���

������ :

(A) III ����9��"�� IV (B) I ����9��"�� II

(C) IV ����9��"�� I (D) III ����9��"�� I

21.  �"�����
�""12���� 	�����*������C'>/��:;�A7���
I.  ��"m]�u1+"������C'>�+"
II. �A1+"� 	�����*������C'>�+"
III. K1+"-�[0,�w������C'>�+"
IV. .�����*9�j"}�������C'>�+"

������ :

(A) I ����9��"�� IV (B) II ����9��"�� III

(C) III ����9��"�� IV (D) I ����9��"�� II ���� �������
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22. Which of the following are not vital rates ?
I. Birth rate
II. Death rate
III. Literacy rate
IV. Migration rate

Codes :
(A) I and II only (B) II and III only
(C) II and IV only (D) III and IV only

23. Land reforms enacted in India include
I. Abolition of Intermediaries
II. Tenancy reforms
III. Consolidation of land holdings
IV. Acquisition of land by the Government

Codes :
(A) I, II and IV (B) I, III and IV
(C) II, III and IV (D) I, II and III

24. A non stationary time series is one with
I. Time varying mean
II. Time varying variance
III. Time invariant mean
IV. Time invariant variance

Codes :
(A) I and II (B) I and IV
(C) II and III (D) III and IV

25. G 20 Working Group on International
Monetary System focussed its attention on

I. Capital flows and their management
(CFM)

II. Future role and composition of the
SDRS

III. The measurement of GDP of SAARC
Countries

IV. Supply of Russian currency in the
global Monetary arena

Codes :
(A) I and III (B) I and II

(C) III and IV (D) I and IV

22.  �"�����
�12�m'
:;���'/����A��
I. m'��'�����'/� II. ������'i"���'/�

III. #@���A��*������'/� IV. ���7��7���'/�
������ :
(A) I ����9��"�� II ���� �������
(B) II ����9��"�� III ���� �������
(C) II ����9��"�� IV ���� �������
(D) III ����9��"�� IV ���� �������

23. :;��'���	��
�"�����12� :�"�� �����>��'i"� B��/-������ ����K�$'��?
#�

7���

I. �����	��*�����'�G7'�����\7K�B��0���
II. ��7�������>��'i"7�
III. :�"���������
7���S������'i"
IV.  �!:�"����6�:�"������7'��� 8����9�B��0���
������ :
(A) I, II ����9��"�� IV (B) I, III ����9��"�� IV
(C) II, III ����9��"�� IV (D) I, II ����9��"�� III

24. �7���0��1J"���A7 
�"i"�7�
I. �A7������4I;/��������'�#���������	��*���������
II. �A7������4I;/��������'����G�M<
III. �A7������4I;/��������'��#���������	��*���������
IV. �A7������4I;/��������'�����G�M<
������:

(A) I ����9��"�� II (B) I ����9��"���IV
(C) II ����9��"�� III (D) III�����9��"�� IV

25. #�����AwX��"�� 	�����*����*�����O�.!P�G 20 ���9>��,�� �����!D���
.!P���������	��M��-��x&9��'���

I. �����7�	��'��� �!�
�="����������9��"������'6�="i" (CFM)
II. SDRS 7�:�"�������*������%& ��������9��"���������'�3
III. SAARC 	��

7�GDP �\7���0���
IV.  �!�!�B���  	�����*� ��'�����12�"�� ��'�&*�  	���
*�?� ����'�|�A

B����"�0���
������ :
(A) I ����9��"�� III (B) I ����9��"�� II
(C) III ����9��"�� IV (D) I ����9��"��IV
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26. The components of Fiscal policy are

I. Taxation

II. Public expenditure

III. Transfer payments

IV. Public debt

Codes :

(A) I and II (B) I, II and IV

(C) I, II, III and IV (D) I, III and IV

27. Vintage growth Models involving technical

progress are

I. Neo-classical

II. Classical

III. Assumes wage-price flexibility

IV. Assumes wage-price rigidity

Codes :

(A) I and III (B) II and III

(C) I and IV (D) II and IV

28. As per the 12th Plan approach paper the

plan allocations must increase as a

percent of GDP to sectors namely

I. Education

II. Health

III. Infrastructure

Codes :

(A) I and II (B) II and III

(C) I and III (D) I, II and III

26. �4
�"���	
'���#�����A��A7

I. �!'���?7������!D

II.  �!:�"����6����*��"������

III. ����BC�����!D7�

IV.  �!:�"����6����i"�����

������ :

(A) I ����9��"�� II (B) I, II ����9��"�� IV

(C) I, II, III ����9��"�� IV (D) I, III ����9��"�� IV

27. ���J" +̂"����M�k�'�������'
U�x&����<�����!D�4���<������K

$�/��	����BC��!3��

I. '�����*���� �!	
��"���
	���7�

II. ��� �!	
��"��
	���7�

III. �	����'�n�������'�������'N�"���6� �!������"������

IV. �	����'�n�������'�������i"���6� �!������"������

������ :

(A) I�����9��"�� III (B) II ����9��"�� III

(C) I ����9��"�� IV (D) II ����9��"�� IV

28. 12 �����!�B�������'s� �!i;��A������x&�'��	
��! ����� �!�A��'�����

 �"������'��A7�����;�'����!D����3<G��.!�B�����7���$�/���

I. �	��*

II. p�4���*�

III. #���x&O�!'
��'�����

������ :

(A) I ����9��"�� II (B) II ����9��"�� III

(C) I ����9��"�� III (D) I, II ����9��"�� III
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Note : The following questions consists of two
statements – one labelled as Assertion (A)
and other as Reason (R). You have to
examine the statements carefully and
select the correct answer from the codes
given under the questions.

29. Assertion (A) : A firm in the steel industry
can be a leader for price
changes in the Motor-Car
Industry.

Reason (R) : The steel firm has
established the
reputation of good
forecaster of economic
changes.

Codes :
(A) Both A and R are true and R is not the

correct explanation of A
(B) Both A and R are true and R is the

correct explanation of A
(C) A is true but R is false
(D) A is false but R is true

30. Assertion (A) : In the case of liquidity
trap changes in the
supply of real balances
have no impact on
Interest rate.

Reason (R) : Public is willing to hold
any amount of real
balances in the case of
liquidity trap.

Codes :
(A) Both A and R are correct and R is the

correct explanation for A
(B) Both A and R are correct but R is not

the correct explanation for A
(C) A is correct, but R is wrong

(D) A is wrong but R is correct

Note :  �"���� �!
�"?7���C'�0���� �!<%&	��'��7'��������K��"��'��?�5�����
	
��� �!<%&	��'���(A) ����9��"��������\����	
��
8="�������D�(R) �A�����9G�B��0���C��P'���5�_� �!<%&	��'��7'���
�!9����� �"�����40,�t'����$�!��"�K��
m�
��7'����[��!����B����"�������

29. ������������ (A) : $����>� �!9 
�"����12�� ����� �����OU
�C���;��'�� �A��'�� �!9 
�"����12� �	����'
� �����'�37� ���� '
�� "�� ��� ��6�
����="�B�����B���F


������
��� (R) : p9O���� ������'�37'���� ������	����A
�!������J"-������������������O�A�$����>
�����O�8!��'���C�B���F������

������ :
(A) A �����9��"���R �C'�0������9��"�P'�������R, A ��"�����>

��9��"�P'���������'i"��A	���
(B) A �����9��"���R �C'�0������9��"�P'�������R, A ��"�����>

��9��"�P'���������'i"
(C) A ��9��"�P'��	����A��R ���9��"�P'�����A	���
(D) A ��9��"�P'�����A	�����A�� R ��9��"�P'��	��

30. ������������ (A) :  	�����*���6��u� �!9��O<12� �
��G���
�767� ��.!��U� ���0j�Q��'/�� .!P�[1;��""
 �!:;������������'�����'B��	���


������
��� (R) :  	�����*���6��u� �!9��O<12�  �!m7�
�������'�C�P'
��
��G������767'��������K
$�0���;��"��p���"�G����'�����'�x&G��'�

������ :
(A) A ����9��"�� R �C'�0���� ��9��"�P'�����U R, A ����

��9��"�P'���������'i"
(B) A ����9��"�� R �C'�0������9��"�P'�������A�U R, A ����

��9��"�P'���������'i��A	���"
(C) A ��9��"�P'�����A� R ��9��"�P'�����A	���
(D) A ��9��"�P'�����A	�����A��R ��9��"�P'���
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31. Assertion (A) : Indian economy is

experiencing a dualistic

pattern of development.

Reason (R) : Agriculture continues to

stagnate.

Codes :

(A) A is true but R is false

(B) A is false but R is true

(C) A and R are correct but R is not the

correct explanation of A

(D) A and R are correct and R is the

correct explanation for A

32. Assertion (A) : Public debts have

increased sharply in many

countries.

Reason (R) : The borrowed countries

have invested in

developmental activities.

Codes :

(A) Both A and R are true and R is the

correct explanation of A

(B) A is true but R is false

(C) A is false but R is true

(D) Both A and R are false

31. ������������ (A) : :;��'����p9O�������*�����O�	��6�	��6�p9O���

#l���M�k��x&�����G'��?�


������
��� (R) : � ��*� ��x&�� "�� ����� �� O� E �� O<' ��

�\'��x&K���G'��?�

������ :

(A) A ��9��"�P'�����A� R ��9��"�P'�����A	���

(B) A ��9��"�P'�����A	�����A� R ��9��"�P'���

(C) A ����9��"�� R �C'�0������9��"�P'�������A�U R, A ����

��9��"�P'���������'i"��A	���

(D) A ����9��"�� R �C'�0������9��"�P'��������9��"��

 R, A �������9��"�P'���������'i"

32. ������������ (A) : #'������	��

712� �!:�"����6����i;7�

���i"H��"���A�.!9K'���


������
��� (R) : ���i" ��� �="���� 	��

7��#l���M� k

�A��'* � ��� ���712� .!/�-�0���7�

B����'
�'��

������ :

(A) A ����9��"�� R �C'�0���� ��9��"�P'��� R, A ����

��9��"�P'���������'i"

(B) A ��9��"�P'��	����A� R ��9��"�P'�����A	���

(C) A ��9��"�P'�����A	�����A� R ��9��"�P'���

(D) A ����9��"�� R �C'�0������9��"�P'�����A���D
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33. Assertion A : Small and marginal

farmers account for a

larger share of poverty in

rural India.

Reason (R) : The new technology can

increase the viability of

small farmers.

Codes :

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true but R is not the

correct explanation of A

(C) A is true but R is false

(D) A and R are false

34. Assertion (A) : The FDI and FII are not

flowing into the country

to the expected levels at

controlled rates of

Exchange.

Reason (R) : Capital account

convertibility enables

conversion of currencies

at market determined

rates.

Codes :

(A) Both A and R are true but R is not the

correct explanation for A

(B) Both A and R are true and R is the

correct explanation for A

(C) Both A and R are false

(D) A is true but R is false

33. ������������ (A) :  �AS�i"�8!	��9����12��'��?U���'��?�A��'�

�C' P����7��[����>���� �
�;'���� ����K

$'
?��'�


������
��� (R) : '������'���x&����<�����!9^;�'�������U��'��?

�C'P����7���O<��.!�B�����7	���

������ :
(A) A ����9��"�� R �C'�0���� ��9��"�P'��� R, A ����

��9��"�P'���������'i"
(B) A ����9��"�� R �C'�0������9��"�P'�������A� R, A ����

��9��"�P'���������'i"��A	���
(C) A ��9��"�P'��	����A� R ��9��"�P'�����A	���
(D) A ����9��"�� R �C'�0������9��"�P'�����A���D

34.  �������������(A) : ���"�� <���� ������'���� ��'/�� ���	�� EU

p���'���������'�����	��
�"�12�"��FDIU

FII�7� �!�
�="��m��'���1J"	���


������
��� (R) : �����C'>�+"����'Z�'����'��� ��'/�� ���	��E
	 ��

7�  	 ���
*7' ���� � ���930 "�
B������4���0
��"�� �����7�	��'��� `;�

������'�3�x������'*������S7������K���G��

������ :
(A) A ����9��"�� R �C'�0������9��"�P'�������A� R, A ����

��9��"�P'���������'i���A	���"
(B) A ����9��"�� R �C'�0���� ��9��"�P'��� R, A ����

��9��"�P'���������'i"
(C) A ����9��"�� R �C'�0������9��"�P'�����A���D
(D) A ��9��"�P'�����A� R ��9��"�P'�����A	���
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35. Assertion (A) : The main objective of the

Nationalisation of

Commercial Banks in

India is to spread the

Branch network into rural

areas.

Reason (R) : The private banks did not

open their branches in

rural areas.

Codes :

(A) Both A and R correct, and R is the

correct explanation for A

(B) Both A and R are correct but R is not

the correct explanation for A

(C) Both A and R are false

(D) A is correct but R is wrong

36. Assertion (A) : Urbanisation is

increasing at a rapid

pace in India.

Reason (R) : Agriculture is stagnating

and unable to absorb the

growing population.

Codes :

(A) A is true but R is false

(B) A is false but R is true

(C) Both A and R are true and R is the

correct explanation of A

(D) Both A and R are true but R is not the

correct explanation for A

35. ������������ (A) :  �AS�i"�  %&��
712� I;*�����



)7'�������G9�B��0���U�:;��'���	��
�"

�
i""m*�I;*�����7�^;X��"������'i"

��"�����>������`2*	��E
�"�����


������
��� (R) :  �!�'��� ��/�� I;*�����7�� �
�""



)7'����  �AS�i"�  %&��
712

�C���'���1J"	���

������:

(A) A ����9��"�� R �C'�0���� ��9��"�P'��� R, A ����
��9��"�P'���������'i

(B) A ����9��"�� R �C'�0������9��"�P'�������A� R, A ����
��9��"�P'���������'i"��A	���

(C) A ����9��"�� R �C'�0������9��"�P'�����A���D
(D) A ��9��"�P'��	����A� R ��9��"�P'�����A	���

36. ������������ (A) : :;��'���	��
�"�����12� �!/-ij"�����'i"
���69�������<'���.!��'���������'��?�


������
��� (R) : � ��*� ��x&�� "��� �� O� E �� O �� O<12
$�0��/����7�� .!� �'�� ���� ���' ��?
m'
:;�����$%&��� ����3�B��1J"���
%z����'��?�

������ :
(A) A ��9��"�P'��	����A� R ��9��"�P'�����A	���
(B) A ��9��"�P'�����A	�����A� R ��9��"�P'���
(C) A ����9��"�� R ��9��"�P'��� R, A ����� ��9��"�P'��

������'i
(D) A ����9��"�� R ��9��"�P'�������A� R, A �������9��"�P'��

������'i��A	���
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37. Assertion (A) : Lewis type of

development has not

occurred in rural India.

Reason (R) : The government policy in

India has been urban

biased.

Codes :

(A) A and R are true and R is the correct

explanation for A

(B) A and R both true but R is not the

correct explanation for A

(C) A is true but R is false

(D) A is false but R is true

38. Assertion (A) : According to Monetary

approach, disequilibrium

in the Money Market is

reflected in disequilibrium

in the balance of

 payment of a

country.

Reason (R) : Money supply and

demand are strong

forces in determining a

country’s balance of

payments.

Codes :

(A) Both A and R are true and R is the

right explanation for A

(B) Both A and R are true and R is not the

correct explanation for A

(C) A is true but R is false

(D) Both A and R are false

37. ������������ (A) : 7��'��}����'�����#l���M�k� �AS�i"
:;��'���	��
�"�12����'30��1J"	���


������
��� (R) : :;��'���	��
�"�12� �!:�"����6���	
'�������

�!/-i"�  %&�� ��� �!@ ��%&� ����4

����0"�'���

������ :

(A) A ����9��"�� R ��9��"�P'��� R, A ����� ��9��"�P'��
������'i

(B) A ����9��"�� R ��9��"�P'�������A� R, A �������9��"�P'��
������'i��A	���

(C) A ��9��"�P'�����A� R ��9��"�P'�����A	���
(D) A ��9��"�P'�����A	�����A� R ��9��"�P'���

38. ������������ (A) :  	�����*���	
'����  �!�A��'������  	�����*
�����C'>�+"12��#��������7*�����

p� 	 ��
 � "� �	���� B C���� �!D

#��������7*�����12� �!<u�u���G��


������
��� (R) :  	�����*� ��.!��U� 0"������0,�7������� 	��
�"
BC�����!D7'�������'Z�'���B����7�C��P'��

�"����G7�

������ :

(A) A ����9��"�� R �C'�0���� ��9��"�P'��� R, A ����
��9��"�P'���������'i

(B) A ����9��"�� R �C'�0������9��"�P'�������A� R, A ����
��9��"�P'���������'i��A	���

(C) A ��9��"�P'�����A� R ��9��"�P'�����A	���
(D) A ����9��"�� R �C'�0������9��"�P'�����A���D
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39. Assertion (A) : The co-efficients of the
reduced form Equations
can be estimated by OLS
Method.

Reason (R) : A reduced form Equation
expresses an
endogenous variable
solely in terms of the
predetermined variables
and the stochastic
disturbances.

Codes :
(A) R is true but A is false
(B) R is false but A is true
(C) Both A and R are true but R is not the

correct explanation for A
(D) Both A and R are true and R is the

correct explanation for A

40. Assertion (A) : The tax evaders of India
find it profitable to invest
their surplus funds in
Euro currency Markets.

Reason (R) : Euro currency deposits
are financial instruments
or activities that are
subject to little or no
government regulations.

Codes :
(A) Both A and R are true but R is not the

correct explanation for A
(B) Both A and R are true and R is the

correct explanation for A
(C) A is true but R is false

(D) A is false but R is true

39. ������������ (A) : ���� j�����9�B���0"�'��� ��S������'i;7
����i"�A7'���� OLS��!	��k<�	
6�A
#�B��'
�����"����B���F


������
��� (R) : ����j�����9�B���0"�'��U���S������'i;7�
�����#������'{����B��7�A��U� �!V��'6�
���'Z��"��C��P'���B��7�A
�"�7�U���"�	��M�a���
B��7�A
�"�7� ��'��!�12� ���� �������
�C����"� Ĵ"��"����7���D

������ :
(A)  R ��9��"�P'�����A� A ��9��"�P'�����A	���
(B)  R ��9��"�P'�����A	�����A�A ��9��"�P'���
(C) A ����9��"�� R �C'�0������9��"�P'�������A� R, A ����

��9��"�P'���������'i��A	���
(D) A ����9��"�� R �C'�0���� ��9��"�P'���� R, A ����

��9��"�P'���������'i

40. ������������ (A) : :;� �'� ��	 ��
 � "� ����12� �!' ���?
[���������	
��'�7�� ��������������7�
��	 ���7' ���� �� "���4� � ��� C'Ht
�����C'>�+"12� .!/�-�0"�� B����"�0���
1;:�"	
��"������A�:;�x&G��'�


������
��� (R) : ��"���4� ����C'Ht� 0"�%&L/������� G
�!9� ���A7�� 1 J "	
�  �!: � "�� ��6
���"�� ���i"7��1J"����%z���0����1J"	

�!9�������A�$'��?�B����'*7�

������ :
(A)  A ����9��"�� R ��9��"�P'�������A� R, A �������9��"�P'��

������'i��A	���
(B) A ����9��"�� R ��9��"�P'����R, A �������9��"�P'���������'i
(C) A ��9��"�P'�����A� R ��9��"�P'�����A	���
(D) A ��9��"�P'�����A	�����A��R ��9��"�P'���
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41. Assertion (A) : Alfred Weber explained

the optimum location of

industries using the

location triangles.

Reason (R) : Triangle illustrates the

least transport cost

location.

Codes :

(A) Both A and R are correct and R is the

correct explanation for A.

(B) Both A and R are false, R is not the

correct explanation for A

(C) A is false but R is true

(D) A is true but R is false

42. Assertion (A) : The poor people are

forced to depend more on

Natural resources.

Reason (R) : Poverty results in

Malnutrition which

causes inefficiency to

take up wage

employment in non

agricultural sectors.

Codes :

(A) Both A and R are correct and R is not

the correct explanation for A

(B) Both A and R are false

(C) Both A and R are true and R is the

correct explanation for A

(D) A is true but R is false

41. ������������ (A) : �� O7� ���' Z� � "��  <:� "�m� ����' ���
$�!�� "�K��� �!9 
 � "� ���7
#l7��ij"�� "�� �� O7� �� �' Z� � "�
��	
'�������'���� p1+" .|0,�� �C���,'
����9��'
0���


������
��� (R) : ��O7����' Z��"��  <:�"�m������ ������ �
��'�
i;� ���*��"������� ����K'��� ��O7
���'Z��"��?���G��

������ :
(A) A ����9��"�� R �C'�0���� ��9��"�P'��� R, A ����

��9��"�P'���������'i
(B) A ����9��"�� R �C'�0������9��"�P'�����A���D�R, A ����

��9��"�P'���������'i��A	���
(C) A ��9��"�P'�����A	�����A� R ��9��"�P'���
(D) A ��9��"�P'�����A��R ��9��"�P'�����A	���

42. ������������ (A) : 8!	 ���
� �'�� ���'Y� �	 ����A
�� �= "m� ��' ��� �'�7� .! P� [� ���>� ��
p�	
��'�!0���
��'�


������
��� (R) : 8!	��9�����%��������pW��'� 12%&��"�
	
9� X�� "�0 ���� � ��7' ��U
���*���x&�J"������'���'��A712�$%&���
%~�	�����������'O���'�����4123�
��'�

������ :
(A)  A ����9��"�� R ��9��"�P'�����A� R, A �������9��"�P'��

������'i��A	���
(B) A ����9��"�� R �C'�0������9��"�P'�����A���D
(C) A ����9��"�� R �C'�0���� ��9��"�P'���� R, A� ����

��9��"�P'���������'i"
(D) A ��9��"�P'����R ��9��"�P'�����A	���
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43. Arrange the following models in the

chronological order of their development.

I. Bain’s Limit Pricing Theory

II. Bhagawathi’s Limit Pricing Theory

III. Baumol’s Sales Maximisation Model

IV. Marri’s Model of Managerial

Enterprise

Codes :

(A) I, II, III, IV (B) III, IV, I, II

(C) I, III, IV, II (D) II, I, III, IV

44. Arrange the following based on their

liquidity.

I. Time deposits

II. Currency Notes

III. Demand Deposits

IV. Traveller’s cheque

Codes :

(A) II, IV, I, III (B) I, II, III, IV

(C) IV, III, II, I (D) II, III, IV, I

45. Arrange the following growth Models in a

Chronological order.

I. Harrod-Domar Model

II. Solow Model

III. Romer Model

IV. Arrow Model

Codes :

(A) I, II, III, IV (B) I, II, IV, III

(C) I, III, II, IV (D) I, III, IV, II

43.  �"����'�������'
7������A7 ���������!	��k<12�#������'�F�����

I. I�"�'��'+�t���"�����>��!9�������	����'���	
k���������

II. :�"������<���"�����>��!9�������	����'���	
k���������

III. I;�C��1+"�#����y�A7'�������9�����B����"���'�������'


IV. ����9}�����'6�="i����*�����O�'�������'


������ :

(A) I, II, III, IV (B) III, IV, I, II

(C) I, III, IV, II (D) II, I, III, IV

44.  	�����*���6��p�	
��'��A� �"�����
���#������'�F�����

I. �A7��!9��<�0"�%&L/��

II. ����C'Ht�'4/��

III. 0"������0,��0"�%&L/��

IV.  �;�C�7�,'t�BC�����>7�

������ :

(A) II, IV, I, III (B) I, II, III, IV

(C) IV, III, II, I (D) II, III, IV, I

45.  �"�������M�k�'�������'
7'�����A7 ���������!	��k<'���#������'�F�����

I. �="�A0,��n�04�����,'�'�������'


II. xz12�'�������'


III. �4�����,'�'�������'


IV. p�4�'�������'


�������:

(A) I, II, III, IV (B) I, II, IV, III

(C) I, III, II, IV (D) I, III, IV, II
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46. Arrange the following in the order of their

occurrence

I. Nationalisaiton of Banks

II. Establishment of RRBS

III. Social control on banks

IV. Financial sector reforms

Codes :

(A) I, II, III, IV (B) IV, II, III, I

(C) III, IV, I, II (D) I, III, II, IV

47. Arrange the following in the chronological

order.

I. Green revolution

II. Structural adjustment programme

III. Garibi Hatao

IV. Inclusive growth

Codes :

(A) I, III, II, IV (B) II, IV, III, I

(C) III, IV, I, II (D) IV, III, II, I

48. Arrange the following in a sequential

order.

I. Kaldor Committee

II. Kelkar Taskforce

III. Chellaiah Committee

Codes :

(A) I, II, III (B) III, II, I

(C) I, III, II (D) III, I, II

46.  �"�����
�""��#�����'30"�'����A7��p�	
��'��A�#������'�F�����

I. I;*�����7�̂ ;X��"������'i"

II. RRBS 7�x&O�!'��

III. I;*�����7.!P�x&����L�������"�� ���i"

IV. ����G��'����������>��'i"7�

�������:

(A) I, II, III, IV (B) IV, II, III, I

(C) III, IV, I, II (D) I, III, II, IV

47.  �"�����
����A7 ��������12� �
��"�������

I. �="9������!���������

II. ��Ayi;���y��������'�EI;/���!�������

III. ���]���="�A�4

IV. ����y��������M�k

�������:

(A) I, III, II, IV (B) II, IV, III, I

(C) III, IV, I, II (D) IV, III, II, I

48.  �"�����
��������'���� ��������12� �
��"�������

I. �A7Q�,'�������j"

II. ���1+"����,'��;}�>�z�,'t

III. BC�7���"�*�������j"

������ :

(A) I, II, III (B) III, II, I

(C) I, III, II (D) III, I, II
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49. Arrange the following programme in a

sequential order.

I. Targeted PDS

II. Special Nutrition Programme

III. Applied Nutrition Programme

IV. Integrated Child Development

Scheme

Codes :

(A) I, II, III, IV (B) II, III, IV, I

(C) IV, I, III, II (D) III, II, IV, I

50. Arrange the following policies in

sequential order.

I. FRBM Act

II. LERMS

III. FERA

IV. WTO

Codes :

(A) II, III, I, IV (B) III, II, IV, I

(C) III, IV, I, II (D) II, I, IV, III

51. Arrange the following in the chronological

order.

I. Environmental Protection Act

II. Forest Act

III. Air Act

IV. Water Act

Codes :

(A) I, II, III, IV (B) III, II, IV, I

(C) II, IV, III, I (D) IV, III, I, II

49.  �"�����!� ���A7'���������'��� ��������12� �
��"�������

I. 7@"������PDS

II.  �!���*����%��������pW��'��!�����������

III. #'������9G����%��������pW��'��!�����������

IV. ������ �����
�"��#l���M�k��!�����������

������ :

(A) I, II, III, IV (B) II, III, IV, I

(C) IV, I, III, II (D) III, II, IV, I

50.  �"������	
'
7'���������'�� ��������12�#������'�F�����

I. FRBM B��/-�����

II. LERMS

III. FERA

IV. WTO

������ :

(A) II, III, I, IV (B) III, II, IV, I

(C) III, IV, I, II (D) II, I, IV, III

51.  �"�����
�""���A7 ��������12�#������'�F�����

I. �!�A*�����'i"��!9��'@��i"�B��/-�

II. ���'��*�B��/-�������#0����

III. �
��"���B��/-�����

IV. m7�B��/-�����

�������:

(A) I, II, III, IV (B) III, II, IV, I

(C) II, IV, III, I (D) IV, III, I, II
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52. Arrange the following strategies in

sequential order.

I. Target area development strategy

II. Target group development strategy

III. Minimum needs strategy

IV. Right to employment strategy

Codes :

(A) I, III, II, IV (B) I, II, III, IV

(C) II, I, IV, III (D) III, II, I, IV

53. Arrange the evolution of WTO in a

sequential order.

I. International Trade Organisation

II. Bretton Woods Conference

III. World Trade Organisation (WTO)

IV. General Agreement on Tariffs and

Trade

Codes :

(A) III, IV, I, II (B) II, I, III, IV

(C) I, II, IV, III (D) II, I, IV, III

54. Arrange the following steps in the logical

order after fitting a multiple linear

regression Model.

I. Unreliable estimates of regression

co-efficients

II. Presence of Multicollinearity detected

III. High R2 but few significant ‘t’ ratios

IV. Drop one of the colinear variables

Codes :

(A) I, II, III, IV (B) II, III, I, IV

(C) III, II, I, IV (D) IV, III, II, I

52.  �"�������V*W7'���������'��� ��������12�#������'�F�����

I. 7@���*� %&�����#l���M�k����V*�="�����

II.  �����!D�7@���*�#l���M�k����V*�="�����

III. ��������#������A7����V*�="�����

IV. $	4*�����="����>����V*�="�����

������ :

(A) I, III, II, IV (B) I, II, III, IV

(C) II, I, IV, III (D) III, II, I, IV

53. WTO��!9i;�����?������'�� ��������12� �
��"�������

I. #�����AwX��"���
i""m*������O

II.  I�"/'+�����D0,�t����������
�"�����

III. � �!�!�B����
i""m*������O

IV. �����A7�U��
i""m*������.!P�x&��'6 <������!3�	���

������ :

(A) III, IV, I, II (B) II, I, III, IV

(C) I, II, IV, III (D) II, I, IV, III

54. ��="�N�"�����'N�"� �!<��������'�������'
'�����9y��'��������'��
���

B���!/-���7��'����!	��k����7'�����
9>�����A�#������'�F�����

I. #�!'������y���� �!<�������'�������i"����#�B��'
7�

II. ��="�N�"����="������	��������$�0��/�����

III. #������R2 $�0"���������>����‘t’����3����G7��0��/�

IV. ������	������������K�$'��?�B��7�A
�"�7'��������.!/-0���

������ :

(A) I, II, III, IV (B) II, III, I, IV

(C) III, II, I, IV (D) IV, III, II, I
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55. Arrange the following trade unions in the
decending order of their membership

I. Bharatiya Mazdoor Sangh (BMS)
II. Indian National Trade Union (INTUC)
III. All India Trade Union Congress

(AITUC)
IV. Hind Mazdoor Sabha (HMS)

Codes :
(A) IV, II, III, I (B) III, I, IV, II
(C) I, IV, III, II (D) I, II, III, IV

56. Arrange the following in the order of their
introduction.

I. MRTP
II. Monopolies Inquiry Commission
III. Competition Act
IV. Competition (Amendment) Act

Codes :
(A) II, I, III, IV (B) I, II, III, IV
(C) III, II, I, IV (D) II, III, I, IV

Note : Match List – I with List – II and select
correct answer from the codes given
below :

57. List – I  List – II
a. Kenneth Arrow 1. General

Equilibrium
b. Arrow and Debreu 2. Social

indifference curves
c. Bergson 3. Impossibility

theorem

d. Samuelson 4. Social welfare
function

Codes :
a b c d

(A) 2 1 3 4
(B) 3 1 4 2
(C) 1 2 4 3
(D) 4 3 2 1

55. ��:�"*���6��p�	
��'��A� �"�����A9y��������|�7'����#����4�="i"
 ��������12�#������'�F�����

I. :;��'X��"�������E�,'����}|� (BMS)

II. :;��'����̂ ;X��"���A9y��������|���(INTUC)

III. p1+"� ��0"���"��  �J"0,����"�����"�'+�� �A� �C� }�
(AITUC)

IV. �="�	,�������E�,'���:�" (HMS)

������ :
(A) IV, II, III, I (B) III, I, IV, II
(C) I, IV, III, II (D) I, II, III, IV

56.  �"�����
�""���
�""� �!���
�"��A7��p�	
��'��A�#������'�F�����
I. MRTP
II. ����x&6����*7��B
��'i"����S���'+�
III. %z�j"�B��/-�����
IV. %z�j"��������'i"�B��/-�����

������ :
(A) II, I, III, IV (B) I, II, III, IV
(C) III, II, I, IV (D) II, III, I, IV

�	������� : �"���� ^;u�
7� '����0"�� ��9��"�P'��� �
��� �40,�t7'���
$�!��"�K���m����!��'�B��������

57. i�j�� – I i�j�� – II
a. �C�'C�?�+��p�4 1. ������ �����x&�	
��'i"�

��������7*�����
b. p�4�����9��"���0C� �� 2. x&����L����$	
(�'��

��� �����')7�
c. ��,'{��'+� 3. #x&�	��*���	
k���������

d. x&�����*1+"��'+� 4. x&����L�������@������
�|7�����

Codes :
a b c d

(A) 2 1 3 4
(B) 3 1 4 2
(C) 1 2 4 3
(D) 4 3 2 1
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58. List – I List – II
a. Real balance effect 1. J.M. Keynes
b. Liquidity trap 2. Don Patinkin
c. Risk Aversion 3. Baumol
d. Brokerage fee 4. James Tobin

Codes :
a b c d

(A) 2 1 4 3
(B) 1 2 3 4
(C) 4 3 2 1
(D) 2 4 3 2

59. List – I List – II
a. Learning by doing 1. Solow
b. Learning by investment 2. Arrow
c. Capital-augmenting 3. Harrod

technology
d. Labour-augmenting 4. Romer

technology

Codes :
a b c d

(A) 4 2 3 1
(B) 1 2 3 4
(C) 2 4 1 3
(D) 4 3 2 1

60. List – I List – II
a. Gunnar Myrdal 1. Tragedy of

Commons
b. Hardin Garett 2. Asian Drama
c. Simun Kuznets 3. Urban bias
d. Lipton, Michael 4. Structural

changes

Codes :
a b c d

(A) 2 3 1 4
(B) 3 2 4 1
(C) 1 4 3 2
(D) 2 1 4 3

58. i�j�� – I i�j�� – II
a. �
��G����
�"��� �!:;�������� 1. �̂"5���"��+��5��j�'+�t
b.  	�����*���6���7 2. 0
'+�5��!�""'+��"�'+�
c. '�����:�"��"����
��'i" 3. I;�C��1+"
d. 	��N;]���'��������� 4. Ĵ"�+��t��;u'+�

������ :
a b c d

(A) 2 1 4 3
(B) 1 2 3 4
(C) 4 3 2 1
(D) 2 4 3 2

59. i�j�� – I i�j�� – II
a. B�����G�'����'�F�4���0��� 1. xz12
b. .!/�-�0"��	
6�A�'����'�F�4���0��� 2. p�4
c. �����7�	��'�������'���� .!�B��� 3. �="�A0,�
x&����<�����!9^;�'�������

d.  
�"����'����.!�B����x&����<��� 4. �4�����,'
�!9^;�'�������

������ :
a b c d

(A) 4 2 3 1
(B) 1 2 3 4
(C) 2 4 1 3
(D) 4 3 2 1

60. i�j�� – I i�j�� – II

a. ����'��?�,'����AQ1+" 1.  �; �̂"0"��p}|��A����'+�t
b. �="9E'+���A�C'�2 2. �����"�'+�� 0
����
c. .�P����'+������L?�+"t 3. �!/-i"��!@��%&����
d. ��!-'+�U��C��P�C�1+" 4. ���*���x&O�!V��'6����������'�37�

������ :
a b c d

(A) 2 3 1 4
(B) 3 2 4 1
(C) 1 4 3 2
(D) 2 1 4 3
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61. List – I List – II
a. Income tax 1. Non tax revenue
b. Excise duty 2. Lumpsum tax
c. Toll tax 3. Progressive tax
d. Dividends from 4. Regressive tax

PSUS

Codes :
a b c d

(A) 3 1 4 2
(B) 4 3 2 1
(C) 3 4 2 1
(D) 2 1 4 3

62. List – I List – II
a. NSC 1. Green box
b. UPOV 2. Warehousing
c. WTO 3. Seed certification
d. CWC 4. Patent protection

Code :
a b c d

(A) 4 1 2 3
(B) 3 4 1 2
(C) 2 3 1 4
(D) 1 2 4 3

63. List – I List – II
a. Central Bank 1. Shatavahana

Bank
b. Regional Rural Bank 2. RBI
c. Private Bank 3. IOB
d. Nationalised Bank 4. Axis Bank

Codes :
a b c d

(A) 2 1 4 3
(B) 1 3 2 4
(C) 4 2 1 3
(D) 3 2 4 1

61. i�j���– I i�j���– II
a. p	
��"���!'���? 1. �!'���?7��A���A�0"�
b. [�C�Pt +̂"������������� 2. ������C������G���!'���?
c. �21+"��!'���? 3. �!D�4�������'����!'���?
d. PSUS '����0"� 4. <�4�������'����!'���?

0"��0C��0����

������ :
a b c d

(A) 3 1 4 2
(B) 4 3 2 1
(C) 3 4 2 1
(D) 2 1 4 3

62. i�j�� – I i�j�� – II
a. NSC 1. p�����!B��F�.!��"-

� R'+�I;�,�t�
b. UPOV 2. K0��Q�K
c. WTO 3. ����G'
7��	��MS�����'i"
d. CWC 4. 8!��"��+"��="����>

������ :
a b c d

(A) 4 1 2 3
(B) 3 4 1 2
(C) 2 3 1 4
(D) 1 2 4 3

63. i�j��– I i�j���– II

a. ���� 	���I;*����� 1. 

����
�="'��
I;*�����

b.  %&�X��"�� �AS�i"�I;*����� 2. p�,'5�u5�T
c.  �!�'������+"�I;*����� 3. T5v5u5
d. ^;X��"���B����"��0"�'�� 4. p�"�t}��I;*�����

I;*�����

������ :
a b c d

(A) 2 1 4 3
(B) 1 3 2 4
(C) 4 2 1 3
(D) 3 2 4 1
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64. List – I List – II

a. FRBM Act 1. Infrastructure

development

b. SEBI 2. Regulation of

telecom sector

c. TRAI 3. Supervision of

Stock Markets

d. PPP 4. Control of

budgetary deficit

Codes :

a b c d

(A) 1 2 3 4

(B) 3 1 4 2

(C) 2 4 1 3

(D) 4 3 2 1

65. List – I List – II

a. NAFED 1. Co-operative

sector development

b. CACP 2. Dairy

development

c. NDDB 3. Co-operative

Marketing

d. NCUT 4. Agricultural price

fixation

Codes :

a b c d

(A) 1 2 4 3

(B) 3 4 2 1

(C) 2 3 1 4

(D) 3 1 4 2

64. i�j�� – I i�j�� – II

a. FRBM B��/-� 1. #���x&O�!'
�x�����A*7

#l���M�k

b. SEBI 2. 	�����'�
i""��'��A�?

 ��������!��'B��0���

c. TRAI 3. x&-�,�������C'>/���!��'*���@��i"

d. PPP 4. �0C�w�+"12/�'���

���"�� <�B��0���

������ :

a b c d

(A) 1 2 3 4

(B) 3 1 4 2

(C) 2 4 1 3

(D) 4 3 2 1

65. i�j�� – I i�j�� – II

a. NAFED 1. ���="�A��'��'������#l���M�k

b. CACP 2. %&0"��!9 
�"�����#l���M�k

c. NDDB 3. ���="�A��'������C'>�""��,�

d. NCUT 4. ���*���x&��"���	����'����'Z��"������

������ :

a b c d

(A) 1 2 4 3

(B) 3 4 2 1

(C) 2 3 1 4

(D) 3 1 4 2
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66. List – I List – II
a. Free trade area 1. Harmonized

economic
policies

b. Customs Union 2. Free factor
mobility within
the Market

c. Common Market 3. Common
External
Commercial
Policy

d. Economic Union 4. Free trade
among
members

Codes :
a b c d

(A) 4 3 2 1
(B) 1 2 3 4
(C) 3 4 1 2
(D) 3 2 1 4

67. List – I List – II
a. Water pollution 1. Increased

Malaria
b. Air pollution 2. Asthma
c. Noise pollution 3. Diarrhoea
d. Seasonal changes 4. Stress
Codes :

a b c d
(A) 2 4 1 3
(B) 1 3 2 4
(C) 3 2 4 1
(D) 4 1 3 2

68. List – I List – II

a. Perfect competition 1. ∫ −
1q

0
11qpdq.p

b. Monopolistic competition 2.
i

iJ

X
X

c. Technical co-efficient 3. Price = 
dq
dc

d. Consumer surplus 4. Price > 
dq
dc

5.
J

iJ

X
X

Codes :
a b c d

(A) 4 3 2 1
(B) 2 1 5 3
(C) 1 3 2 5
(D) 3 4 5 1

66. i�j���– I i�j���– II
a. 8�6B
a��
*%&��'� %&����� 1. ������'��6��"��p9O���

��	
'
7�
b. �����-�+��t���"�����"�'+� 2. �����C'>�+"��!9��12

�A��'�A7
8�6B
a�������'���7���

c. $����y0"�������C'>�+" 3. $����y0"����="��'{���
�
*%&��'���	
'�������

d. p9O��������|�� 4. ��:�"�*7������	��*�8�6B
a
�
*%&��'�����

������ :
a b c d

(A) 4 3 2 1
(B) 1 2 3 4
(C) 3 4 1 2
(D) 3 2 1 4

67. i�j�� – I i�j�� – II
a. m7�A7���*����� 1. ����1J"9��"��.!��'�����	��7
b. �
��"����A7���*����� 2. $�Y���
c. �
�"�E��A7���*����� 3. #<x&��'��
*��
d. ����������D7�������'�3 4. �<G0"�
������ :

a b c d
(A) 2 4 1 3
(B) 1 3 2 4
(C) 3 2 4 1
(D) 4 1 3 2

68. i�j�� – I i�j�� – II

a. ����!V��'Z�%z�j" 1. ∫ −
1q

0
11qpdq.p

b. ����x&6����*�%z�j" 2.
i

iJ

X
X

c. x&����<��������i"�������� 3. �	����' = 
dq
dc

d. ����"����	
��'���������7� 4. �	����' > 
dq
dc

5.
J

iJ

X
X

������ :
a b c d

(A) 4 3 2 1
(B) 2 1 5 3
(C) 1 3 2 5
(D) 3 4 5 1
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69. List – I List – II

a. Purchasing Power 1. Frankel

Parity Theory

b. Flexible Price Model 2. Gustav Gossel

c. Sticky Price Model 3. Mundel-

Fleming

d. Floating Exchange 4. Dorn Bisch

Rate Model

Codes :

a b c d

(A) 2 1 4 3

(B) 3 4 1 2

(C) 3 4 2 1

(D) 1 2 4 3

70. List – I List – II

a. Adam Smith 1. Public goods

b. A.P. Lerner 2. Canon of taxation

c. Musgrave 3. Functional

Finance

d. Shirras 4. Canon of public

Expenditure

Codes :

a b c d

(A) 1 2 3 4

(B) 2 3 1 4

(C) 2 4 3 1

(D) 4 3 2 1

69. i�j�� – I i�j���– II

a. �\'����47��
�"�"�G�������'�����6 1.  �&��C�1+"

��	
k���������

b. ����'N�"��	����'7�'�������'
 2. �A��-�+���A.�1+"

c. ��O��'��	����'�'�������'
 3. �����0C�1+"�n�.|�����,�

d. B��7'���������'����!D���'/�� 4. 0
�,'?�u}�

'�������'


������ :

a b c d

(A) 2 1 4 3

(B) 3 4 1 2

(C) 3 4 2 1

(D) 1 2 4 3

70. i�j�� – I i�j���– II

a. p0���+�����y�+� 1. �!u��,��������G���D7�

b. [5��!5�7��'?�,' 2. �!'���?������!D���� �
7�

c. ����}� ����+� 3. ��	���7'��'�����9��'��

����G�����

d. �� �A}� 4.  �!:�"����6����*��"�����"������

������ :

a b c d

(A) 1 2 3 4

(B) 2 3 1 4

(C) 2 4 3 1

(D) 4 3 2 1
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Para – Phrasing

(Q. 71-75) : Answer the questions from 71 to

75 by reading the following

passage.

Policy makers are usually focussed on

short-run economic management issues.

But the short-run has to be a bridge to the

long-run. The long-run question facing

India is where will good jobs come from ?

Productive jobs are vital for growth. And a

good job is the best form of inclusion. More

than half of our population depend on

agriculture will have to shrink if percapita

incomes in agriculture are to go up

substantially. While industry is creating

jobs, too many such jobs are low-

productivity non-contractual jobs in the

unorganised sectors, offering low

incomes, little protection and no benefits.

Service jobs are relatively high

productivity, but employment growth in

services has been slow in recent years.

India’s challenge is to create the

conditions for faster growth of productive

jobs outside agriculture, especially in

organised manufacturing and in services

even while improving productivity in

agriculture.

Para – Phrasing

(Q. 71-75) :  �"�����
*x&�?�B�����71 '����0"��75 �����'����

���7� �!
�"?7�����m�
��� �
��"�������

x&�	
��'i"��A���	
'��������'G7�� ��673�A�����p9O�������'6�="i"

��� �����*7� S�	��� 	��M��-�� � ��� �� ��9x&G� �'�5�#�'�����

��673�A7������ ���'�� �A1;��"�� ����� �
��'�������""�5� ������

$	4*�A7��[B��F�""�'���������x&G��"�'������'��A�����  �!
�"?'���
:;��'���	��
�"��[	����\>'���B���'��?�5�$�
3	������$	4*�A7�

���M�k�"��#���*����������)*�C��P'���5��������$	4*���������y����
��	
'
��"���������������'�������'
5����*���x&��"����'�����12�

���7��9� p	
��"�7�� � ��i"H��"���A� .!� �'�A7��J"U
���A��"�.!P�A� ���*���x&��"��.!P�p�	
��'�!0"�'��� ����'��� m'
:;

� ���A {�5� %&9 

��� ��� �'�� ���� $	4*�A7' ���
����3�B���B���'��?�!3�""� j�U� �
�""12�#������$	4*�A7��#73

$�
3	��������'��������K�#����|��""������'�����12���!3�	����1J"�
$	4*�A7��A���D'
?�'��5�#���������>����p	
��"�7'���U�#<

�������>������'@��i"'��������3���G�[/������""�1;:;7'����1J"�����0


B�����G'
?�'��5� 8����7� ��'��A712��$	4*�A7��x&8!@����A

#������$�
3	��������'��������K����D'��?�!3�""�j����j"������A7�12

8����7��'��A712�$	4*�Al���M� k� �������>����A���D'��?�5

:;� �'� ��	 ��
 � "�� � ��*� ��x&�� "��12� $�
3	 ��� ��� ��' ���
.!�%~���B��/��4%&/�� ���*���x&�J"������'U� �����)*��A

����|��""���������"�]�����9��"���8����7���'��A712�$�
3	�����

$	4*�A7�� ��������A� ���M� k� BC��	���;��"��#��� ����'�����J"�*

����	��'��7'���� ��M��-�B��� ���
N�" �'����[	����\>'���B���'��?�5

�[���'
���,������'6�2012-13�
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71. The long-run challenge facing India is to

identify the

(A) Productive jobs

(B) Sectors that provide good jobs

(C) Both A and B

(D) None of the above

72. The following are needed to increase per

capita agricultural incomes in India.

I. Dependency of population on

agriculture should increase

II. Dependence of population on

agriculture should decrease

III. Productivity in agriculture should

increase

Codes :

(A) I and II

(B) II and III

(C) I and III

(D) I, II and III

71. :;��'���	��
�"��[	����\>�/�'��?� ���'��A����� ���
N�"��� ���

����9G�B���/

(A) $�
3	������$	4*�A7�

(B) �������$	4*�A7'��������3�B����'��A7�

(C) A ����9��"�� B 7�

(D) .!P���S��A���D

72. :;��'���	��
�"�12�����7��9����*���x&��"���'�����p	
��"�7'���

.!�B���/������A���7��'���� �"�����
�""12�����

I. ���*���x&��"���.!P�p�	
��'��!0���m'
:;�.!��'�A�

II. ���*���x&��"���.!P�p�	
��'��!0���m'
:;�����A{�

III. ���*���x&��"����'�����12�$�
3	���������.!��'�A�

������ :

(A) I ����9��"�� II

(B) II ����9��"���III

(C) I ����9��"�� III

(D) I, II ����9��"�� III
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73. The characteristics of jobs created in

Indian Industrial sector are

I. Less productive

II. Non-contractual

III. Contractual

IV. More productive

Codes :

(A) I and II

(B) I and III

(C) II and IV

(D) III and IV

74. The jobs in India’s unorganised sector

provide

(A) Low incomes

(B) Little protection

(C) Negligible benefits

(D) All the above

75. India’s challenge is to create conditions

for the growth of productive jobs in

I. Agriculture sector

II. Organised manufacturing sector

III. Unorganised manufacturing sector

IV. Services sector

Codes :

(A) I and II

(B) II and III

(C) III and IV

(D) II and IV

———————

73. :;��'���	��
�"��!9 
�"����7���'�����12���M��-��'���$	4*�A7���"�����>
7@��i;7�

I. #73�$�
3	��������

II. ��!3�	
7��1J"���%z���0���

III. ��!3�	
7������K���D�0���/

IV. #������$�
3	��������

������ :
(A) I ����9��"�� II
(B) I ����9��"�� III
(C) II ����9��"�� IV
(D) III ����9��"�� IV

74. :;��'���	��
�"�#����|��""���� ��'�����12��$	4*�A7�� ���
#��x&G�'��
(A) �������>����p	
��"�7�
(B) �������>������'@��i"
(C) $8!@"���!	��K'���1;:;7�
(D) .!P���H?

75. ����'�����12�$�
3	������$	4*�A7��.!��'�����/�����#�������'�C��P'��
�!9��O����7������3�B��/��:;��'����	��

��"��$'��?����
7���

I. ���*���x&��"����'�����
II. ����|��""���������"�]���'�����
III. #����|��""���������"�]���'�����
IV. 8����7���'�����

������ :
(A) I ����9��"�� II
(B) II ����9��"���III
(C) III ����9��"�� IV
(D) II ����9��"�� IV
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Space for Rough Work
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Space for Rough Work
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Space for Rough Work


